EARAROBREBRT —5 XN—ZXBISH—F

20214118285 (H) 7OKR1H

Kl anmmsasoss B2—# 455K E R N
[AXE%E] 1 &:450,000F ~ 2%&:158,000H  33#%&:90,000M  43%&:45000MH  53&:23,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—ae P I : -3-4- - REAR (KR
17110l #57vE v 4| B 1.(sz 4-3-4-3 | 38.5 7 :1&9) e 7
RIIRTVFUY B:AX/ATNY ARt KIERT—TIL
5 AR : -2-2- - SEHHZ OKR)
2l7lo| T/ oA o6 A (12.411/.263 2-2-2-2 | 39.0 4 21+930) :Fg_m;
RIN—ANR B:oA VT4 —)SU—R BET7— L
Sy — FER : -1-1- - EBHE (KR
3 A e 2 =t 30 1(941:)6 T 392 ! (4315) HBhpiZE oo
RIND BFSIYRFA)S— FPSEITT—I
— 43 | MERRE 1:41.8 5-5-2-4 |38.8| — 3 489 |BRE®R KR
4 g 7| %20 %0 /i (o) | EEAR
R:7v=E5—L B:HISVIS =tE ®5
. ROB— : -7-6- - HNEEZE (KR)
55|5| IRET—4 "3 80 R A © | i [
R:O—IRA XA B:TI—T747 LIEFH15
¢ ng LUAEES : -8-7- = IN\THEAE (BEFE)
6 3| P—U—N—R i 6 e (11412/263 9-8-7-7 | 38.0 5 (4_1?2) H#E{%
RO—IRA VA B:LAVR—N\—h HH B=
o L& #EREB : -9-9- - MRIESA] (KGR
71111 INNILINT Z ™ 6 A54_0)\ 1.6112).8 8-9-9-8 | 38.0 2 (4577) ol GKR)
RIVYNYIVATT BE—-RAI4TRUT FrIEF IR T7—1I
= = t 7 | E&S 1:43.6 3-3-5-6 |40.7| — 10 | 472 |[=F=8 (KR)
88|12/ 71— ! 54.0 (5) @3 | @ 7FIVF
R:TFRAUIT B:FPSIYRFA/)— FPSEITT—L
~ o . B3I : -6-8- - FEEE (KR
98l ¥wn—mz—7 "R B AR E P [
RNy vH—)L B:5RAU-X N E%U5
. AATBE : -10-10~ - FEER KR
10 g| 7T¥—sax 4 3 N 1.&.4 10-10-10-10| 38.4 9 21;115; §ﬁﬂ)\ 7
RIVIRI—ZZRY— #:T—-)LTFVITH— KRS
\ LLIAES S, - - - - - - | FE=EE (KR
*k 4 /YU "4 56.0 (BE) (-) E¢%ﬁo)
RIRVIRAT A I VA UT— 8B:N\—FVR)bE— NHEKS
N . o0 | maE _ - N HEI— ()
w56 | ADONU—F2T B0 B0 (854 (4_7:) MEEEES
RIN=YTS54 B:RU—LIVIUL RS
@ 11— —®BIEfI
10—7+— 2,9,12,10,7,11,5,1,3,8
20—F— 2,9, (10,12),7,11,5,3,1,8
30—7— 2,(7,9),10,12,5,3,11,1,8
43—F— 2,9,10,7,5,12,3,1,11,8
o ILRE
B B 10 2,750 JA R 9-10 2,110H % 3= 7-7 11,960M4 3EE 2-9-10 3,340
7B B 10 1309 2-10 440M 5 & 9-10 12,220 3EH 10-9-2 82,450M
9 340 2-9 370H Ba 10-9 32,0704
2 1004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




